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s'(1) = 2(1) -3      s"(1) = -1

negative velocity means the position moving to the left.
positive velocity means position moving to the right.
zero velocity means the position is stopped.

part a)
s = 24t -.8t2

v(t) = 24 -1.6t   m/sec
a(t) = -1.6    m/sec2

part b)
what is the slope at a maximum?  zero
v(t) =0
0 = 24 - 1.6t  and solve
24/1.6  = 15   so t = 15 sec

part c)
How high did rock go.  Plug is 15 sec into s(t)
s(15) = 24(15) - .8(15)2

180 meters part d)
when did rock reach 1/2 of maximum.
use calculator
24t-.8t2=90 then find intersection points

t≈ 4.393 sec and t≈ 25.607
part e)
How long is the rock in motion?
0= 24t -.8t2    
30 seconds

Remember:
v(t) < 0  means the position function is moving to the left
v(t) > 0  means the position function is moving to the right
v(t) = 0  means the position function is stop
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Read and follow the instructions 
for each exploration

average cost of x=100

C'(x)=100-0.2x
C'(100)=100-0.2(100)
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